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* attributive clauses M
» the present participle; A fe 539
« simple past regular verbs : MW # g kX
* using pronouns and linking words ; K8 Ao i 39535
» listening %I,

* using prepositions. 4~1d] ,

i‘?.'_‘ AT AT ¥, ARAF LI R (defining) % #5 4K 8) F= 3F FR &2 1 (non-defining) & # A 4)
L e Mk, Mk 2 HoM Book 3 Unitd 3 7 it

Activity 1

Combine the sentences to make either a defining or non-defining attributive clause, as indicated in
brackets, with who. which. that or whose. ( #R3E4&5 F 892K, B who, which, that 3 whose
WAt B R EMRE) , BEAFAHFANEGFER—9. )
Example: Chris lives in Florida. He is one of my brothers. (non-defining)
Chris, who is one of my brothers, lives in Florida.
Chris has a daughter. She’s three years old. (defining)
Chris has a daughter who / that is three years old.
1. His family live in a big American house. It has got a swimming pool. (defining)
2. Chris has a twin brother. His name is Roger. (defining)
3. Roger lives in Oxford. He is an engineer. (non-defining)
4. Roger has twin sons. They are four years old. (defining)
5. Robert is two years younger than me. He is my other brother. (non-defining)
6. Robert has twin daughters. They are both married with children. (defining)
7. Robert also has an older son. His name is Shaun. (defining)
8. Shaun’s wife is called Emma. She hasn’t had any children yet. (non-defining)

K"&Tﬁ HEIY, CBEIMRZIBRZERGFFRIERZEADGPIREFTHRNE,
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Activity 2

Put in commas where necessary. ( &% &6 F5 M AE S, )

1. Over 11 million people live in New York which is one of the largest cities in the world.

2. The world’s urban population which is increasing every day will double by 2025.

3.The growth of cities will take place in developing countries which will become very overpopulated.

4. Deforestation is destroying the land which causes people to leave.

5. Cities which offer more job opportunities would attract me.

6. Industrial cities which are usually very rich attract the largest number of immigrants.

7. The greatest expansion will be in Southeast Asia where most of the new mega-cities ( A2 if g 7 &) X
& ) will be found.

8. People move to areas that can offer them a higher standard of living.

Language Focus

Mt i e BB
MLpiasaiEtee BR#&E, MY TAARTH IS ERTHGZEAY, Fldo:

« Do you know the woman sitting over there?= Do you know the woman who ( that ) is sitting over
there? 1R kiR 4 /o AR 1 69 ARz 434"

$ké) F , ._sitting over there 48 % T I f& 3t 47 B 69 = #5 M 4] ...who (that) is sitting over there.

» The girl playing tennis with you used to be my classmate.= The girl who ( that ) was playing tennis
with vou used to be my classmate. Fo{RAT RHEHMALZ E R AVE &,

3t 4) ¥ ...playing tennis with you 48 % Fi& & # f7 i} &) 2 35 A 4) ---who (that) was playing tennis
with you....

TORMTEAED ¥, A D A9 R,
o«

Activity 3

Part A

Join the two sentences using an attributive clause. ( fl £ &K a) #EH AT, )
Example: The pollution was affecting the city. The pollution came from factories.

The pollution which / that was affecting the city came from factories.

1. The people were wearing hats. The people were protected from the sun.

2. The doctor is treating my mother. The doctor is very well known.

3. The woman was talking to me. The woman is my cousin.

4. The factory workers were living in the polluted city. The factory warkers'got very ill.

Part B
Rewrite the sentences in the answer key using a present participle. (LA 5942545 L @#h 4 F. )
Example: The pollution which/that was affecting the city came from factories.

The pollution affecting the city came from factories.
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Activity 4 Extract 1

Respond to the questions you hear using the prompts given below. ( AR4ER TR LK F FeyEIAA, )
Example: You hear: What did you see?

You read: A man was running away from the house.

You say: I saw a man running away from the house.

1. A loud noise was coming from outside. 4. The firemen were driving down the street.
2. People were shouting in the street. 5. Everybody was running away from a fire.
3. A house was burning. _ 6. The police cars were arriving.

EFE: DL Activity 4 B9 4] F ¥, B H 5742 iF (E R iF#EiE.

Language Focus

M1 58 V5 BB AN RE

MR TARERENRAE, EANENRENRLSREE, RAXIHLIARENSHASH
AR 633, 4esee, hear, notice, smell, watch, feel, find ¥, f#|de:

I saw a boy hitting the dog. & A& L—ANBHEAATIARR ),

I felt the boat shaking. #K A4 A% R,

P

‘:; M 55 AN Bhia it & KXot B R A F .

Activity 5

Give the simple past form of the verbs listed below. (5 i F 7| #h4a 49 % X, )
Example: cry - cried

1. brush 4.drop 7.fry 10.marry 13. prefer 16. study
2. change 5.enjoy 8.hate 11. open 14. repair 17. try

3. cook 6.fit 9.hope 12. phone 15. shout 18, want
Activity 6

Decide if the -ed ending of the simple past verbs in Activity 5 is pronounced /d/, /t/ or /id/. Write the
verbs in the three columns according to the final sound. One has been done for you. (#]#f Activity 5 &
ARG EXAR ed 9K FAH A/, WER D, HRBARLAEE, B LEHIHEHBATE
#=42 ¢, £ F changed EAEHTHIL L, )

d/ A7 /id/

changed
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4
;3- A Activity 6 89 2%, Z )5 4k &t Activity 7.

Activity 7 Extract 2

Listen to Extract 2 and pay careful attention to the pronunciation. Then listen again and repeat each verb
three times using the pause button. (°f Extract2, z & £ &, % — i, A&/ 386 @HFe X+,
IRk =&, )

L

g_ T & 695 9 T O 3 Akl i 58 AR ) Ao ik 42993598 & B AR R,

Activity 8

Read the following text. Rewrite the paragraph to make it more concise by changing the words in bold.
Use pronouns (it, he, they, his, their, him, her, them, etc.), relative pronouns (who, which, that, whose)
and substitution words (such as that, this, these, there and here). ( 1% #:F & #9557 , A it, he, they, his,
their, him, her, them, who, which, that, whose, that, this, these, there, here ¥ # 4% 4) P 44 24k F 8 &
BETAH, )

John is an agricultural engineer. John specialises in deforestation. John had a very good job
and John’s job paid John well. However, John didn’t care about the money. John got bored with his
life in England. So, because John was bored, John decided to go to Ethiopia. He went to Ethiopia to
help other people. Many farmers in Ethiopia were poor. He helped the poor farmers to plant new trees.
The new trees helped to make the poor farmers’ lives better.

Activity 9
Complete the sentences with the correct words. ( £ 4%if % #9853 %, )
Example: Pollution is destroying the land and, B Jfarmers are leaving the land.
A. as well as this B. as a result
1. John was bored, he left his life in England.
A. so B. in addition
2. John had a very good job with a very good salary. , he had quite a high standard of living.
A. Furthermore B. Consequently
3. There were deforestation problems in Ethiopia. , they needed help with tree planting.
A. In addition B.Therefore )
4. It was difficult for the farmers to grow food. , many of them were very poor.
A. As a result B. However
5. John was an agricultural engineer. , he was able to help the people in Ethiopia.
A. As well as this B.Consequently
6. He helped the farmers to plant trees. , he taught them how to improve their farming
methods.
A. Furthermore B. So
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7. At the end of the year he could have returned to the UK. , he decided to stay because he
liked what he was doing.

A. Therefore B. However
8. He had taught the people a lot, he thought they had taught him far more about life than he
had taught them.

A.and B. although

Activity 10
Read the text and choose the most appropriate linking word. (4% 15 % 691 EH 2. )

because consequently however so inaddition asaresult therefore so

Bill is an agricultural engineer who was a well-known expert in desertification( £3& ) 31k ). J'l -
he had a very good job, which paid him well. 2., he didn't like it 3. he had become bored
with his life in London and what he was doing there. 4. he looked for something which was more
interesting and worthwhile, and a friend suggested working for a charity 5. he decided to go to
Africa to help other people. There is very little rain in many places in Africa. 6., trees have died
and the desert has increased 7.___many farmers there are losing their livelihoods( 4 #t ). Bill helped
them to plant trees. 8., he taught them how to protect the land from the desert, which helped to
make their lives better.

o
CTaBeR A%,
)% W 7] %3]

Activity 11 Extract 3 '/

Part A

Read the following questions. They are questions that John answered in the recording, though the
questions themselves have not been included in Extract 3. (& # F & #j = A, iX % Extract3 ¥ John
HEGEAA, P ERLERETE, )

a. How much longer are you staying here? d. How long have you been in Ethiopia?
b. Why did you come? e. What’s your job?

c. Has it been a good experience? f. What have you been doing here?

Part B

Listen to Extract 3 and note the electronic tone where the questions should be. Then, listen again and put
the questions in the correct order. (% Extract 3, #4ER-FF, A LEEMB LM E, KRG, F
—ikFF, FAFEAEHHEA, )
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Activity 12 Extract 3

Listen to Extract 3 again and state whether the following statements are true or false. (# %7 —i& Extract 3,
I #IBTIER, )
True False
1. John went to Ethiopia eight months ago. }
2. He knows a lot about farming and trees.
3. He wasn’t happy in his old job because he
was earning a lot of money.
4. He wasn’t happy in his old job although he
was earning a lot of money.
5. He’s been planting trees for the local farmers.
6. Planting trees brings more than one benefit.
7. He is staying in Ethiopia for 2 years altogether.
8. John thinks the people he’s helped have learnt more
than he has from them.

oooo 0O godg
Oooono o oOgd

LRE, BIHARE KBRS,

Activity 13

Complete the following sentences. ( Flif % #5438 33|42, )

1. Have you heard the environmental projects of the Chinese government?
2. The lack of rain leads  migration (4% Kk, ifft) .

3. They are protecting the land the desert (i) .

4. They are carrying _ three projects to stop the desert growing.

5. This farm is too lange _ the people standing over there.

Now for Something Light

Humour

He was 85 and she was 83.

“Our marriage Lacks romance. ” she said to him one day.

“Well, let’s do what we did before we married. We used to meet each other in the evening. ” he
said.

“OK,” she said. “I’ll meet you on the beach tonight at 7:30.”

He waited from 7:30 till 8:30 and from 8:30 till 9:30, and at 10:00 he went home, very cross with
his wife. When he got there, she was sitting in a chair, crying.

“What’s the matter?” he asked.

“My parents wouldn’t let me come out tonight. » she wailed.
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In this unit you practise

« attributive clauses and the past participle

* the passive and the use of can/must/not
allowed to in the passive

Unit 14

RENG R A EERELRE,:
A E S R can/must/not allowed to AT
MHE)

* the zero conditional ; RERHY,
* language related to waste and recycling , Y E AP E P o
* question tags & 2 ALK

* using prepositions . A9,

A& Activity | 7, ARI§4 D T A 94 X £ K35 who, that, which #5Z#EM ), 48Kl iA KL LK

L # Book 3 Unit4,

Activity 1’

Identify the sentences where you can omit the relative pronoun who/which/that and the sentences where

you cannot omit them. ( | 5 F 5| & &) PR T VL ug X A K45 , R R 9, )
Example: People prefer to buy ready-made food that they can cook quickly.
People prefer to buy ready-made food they can cook quickly.

(that T VA%, )
Mothers often give their children food that is pre-packed.
No change. ( that 57T -, )
1. 1 like to eat the food that my mother cooks.
2. Some people refuse to eat the food which contains artificial preservatives ( 5 /& #] ).
3. Supermarkets sell convenience food that busy working people buy.
4. Supermarkets produce a lot of food which is high in fat.
5. Some fast food chains have special rooms that parents can rent for birthday parties.
6. Some farmers grow organic food which has not been treated with pesticides ( & % | ).
7. More and more people buy organic food from farmers who sell it at local farmers’ markets.
8. The organic vegetables which we buy jn supermarkets are more expensive than normal ones.

EE: RERAWREN P EEEF, EHERFEFADFPIHEEH.
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] ‘; )

&. iid Activity 2 # Activity 3, RS I L Lo EEEEE T ENLEN,

Activity 2

Rewrite the sentences where the attributive clause can be replaced by a past participle. (#|#7F 7|4 F P
W8T VAR Rk i iR B R E, HABMEYT, )
Example: I never eat sandwiches that are prepared the day before.
I never eat sandwiches prepared the day before.
My friend always brings some fruit that we eat in our coffee break.
No change.
1.1 don’t like sandwiches that are wrapped in cling film (fR& L) .
2.1 go to a sandwich shop that makes fresh sandwiches.
3. They sell sandwiches which are prepared while you wait.
4. The people who work there come from Italy.
5. They sell their own bread that is baked on the premises (/& A&/&) .
6. You can also buy meals which are prepared for the microwave.
7. They also sell home-made cakes that are covered in cream.
8.1 go to a cafe where they make their own cakes.

EE: WEiESH R EEM AT L E K1 0 F e B .

Activity 3 Extract 1

Listen to the statements and respond to the cues using the information given below. (4&4% Extract 1 F &9
RT, BT aTF, dbh—ANeAE L4 EE ERENI T, )
Example: You hear: I don’t like sandwiches.
You read. Sandwiches are wrapped in cling film.
You say:I don’t like sandwiches wrapped in cling film.
1. Hamburgers are sold in fast food chains.
2. Unhealthy food is made in factories.
3. Sandwiches are bought from supermarkets.
4. Ready-made meals are cooked in microwave ovens.
5. Fresh vegetables are bought from my local market.
6. Chinese chicken is cooked in a sweet and sour sauce.

ST RS R RN ES,
-4
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Language Focus
mAES Rk
ATEROAFALTEFREAKRAES: |. BAMMEARTE, FRBAXNE: 2. £HhER
TR, RALLREY; 3. #NETAH; 4. AREXGEERT, Bl
- Someone stole my wallet yesterday.
- My wallet was stolen yesterday.
- They make hamburgers from beef and onions.
- Hamburgers are made from beef and onions.

Activity 4

Rewrite the passive sentences below in the active. (¥ F 7| #hiE508) T h L #ES, )
Example: Artificial preservatives in their food are not liked by people.
People don t like artificial preservatives in their food.

Part A

1. Fridges are being dumped in the streets by everybody.

2. Waste electronic goods are broken up by workers in China.

3. The problem of waste is being controlled by the government.

4. Old computers are not wanted by governments in the USA and Europe.

Part B

5. Damage from toxic chemicals ( A &1L % 4% /i1 ) was suffered by the environment.
6. Factories have been shut down by their owners in Guangdong province.

7. Recycling was introduced in Britain in 1995 by the government.

8. Health problems were suffered by factory workers a few years ago.

EE: 1. PartA (£ — R B2 EHITE ; Part B — it £ 0 8 A5 K b
2. suffer ZR i, & “WE” WEE, TUFTHRHES, WwWEEHESHES 4.

>
a F @ % 3 th A7 can A= must, VA& notallowed to | T3 ESL%H,

Activity 5

Rewrite the sentences using the passive form. (HTF#| &) FA AMKHES, )
Example: You must not dump old electrical goods in the street.
Old electrical goods must not be dumped in the street.
1. The council can collect old refrigerators.
2. We can arrange a time.



3. You must pay a fee of F30.

4. Alternatively, you can take it to the council refuse dump ( 32383% ).
5. You must take it between 10:00 am. and 4:00 p.m. on weekdays.

6. You must make an appointment.

7. You must give us 10 days’notice.

8. You can contact us on 0208 384 57 x x .

Activity 6
Use the prompts to write two sentences-one with mustn’t and one with not allowed to.( #&4&4#& =, %3
A mustn’t 4= not allowed to A F 7] a)-F. )
Example: Dump your fridge in the street.
a. You mustn’t dump your fridge in the street.
b. You are not allowed to dump your fridge in the street.
1. Drive over thirty miles an hour in residential areas.
2. Drink alcohol when you drive.
3. Carry more than five passengers in your car.

4. Use your car if it is not insured.

Activity 7 Extract 2 /
Answer the questions you hear using the information given below. (&34 7 , © % Extract 2 &%) 4 , )

Part A
Use not allowed to in your answers. ( ] not allowed to /2, )
Example: You hear: When can young people buy cigarettes?

You read: until/16

You say: They are not allowed to buy cigarettes until they’re 16.

1. until/18 3. until/16
2. until/18 4. untll/16
Part B

Use mustn’t in your answers. ( ] mustn’t /g4, )
Example: You hear: Are your children allowed to stay out late?
You read: after midnight
You say: No, they mustn’t stay out after midnight.
5. go out alone at night 7. watch TV after 9 p.m.

6. play loud music after 10 p.m. 8. play computer games during the week

10
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Activity 8

Part A
Complete the sentences using the zero conditional and the appropriate verbs in brackets. ( f] &5 P Ff %

#id#ig B AMAAKFMH . )

1. If my husband ' _in a good mood, he usually me flowers. (be/buy)

2. When my children to their friends’ birthday parties, they always a present.
(go/take)

3. If kids too much television, they lazy.(watch/get)

4. When my son to the cinema, he always popcorn. (go/buy)

FE: U EOGERLRMGE —RGRABR, EREGREMN G F 5050 —RAE . AHEE
G Part B 1 BN KP4 B9 T L

Part B
Complete the sentences using the first conditional and the appropriate verbs in brackets. ( Fl &5 ¥ Ff %

#ia ek GH XMRAKFH, )

S5.1If1 hard, I my exams. (work/pass)

6. When 1 my homework, 1 the dishes for you. (finish/wash)
7.If 1 a nice dress in the shops, 1 it.(see/buy)

8. She to the party if you her. (come/invite)

| 15N

5-\_"_'5%2&»]&)13,;,530 # X402 A R Book 3 Unit 17,

Activity 9

Complete the sentences with the correct question tags. ( Hlif % &9 M mEE ) &) TR F 78 F. )
Example: She’s got three children, ?
She’s got three children, hasn’t she?
1. They want the latest fashions, ?
2. She’s bought them mobile phones, s
3. She can’t buy them cheap brands, ?
4. They shouldn’t eat junk food, ?
5. She doesn’t cook every day, ?
6. Ready-made meals are easier to prepare, ?
7. Convenience food isn’t good for her children, ?
8. They don’t eat healthy food, 2

11



